$S_2 = S_1^{S_1}$ 

$$f(z) = I_{z} (I_{1}) (2) = I_{1} (I_{1} (2)) = I_{1} (2z) = 6$$

$$f(z) = I_{z} (I_{z}) (I_{1}) (2) = I_{z} (I_{z} (I_{1})) (2) = 2|z^{2}$$

$$= (I_{z} (I_{1}) \circ I_{z} (I_{1})) (2) = 2|z^{2}$$

$$= I_{z} (I_{1}) (I_{1}) (2) = 2|z^{2}$$

$$= I_{z} (I_{1}) (I_{1}) (2) = 2|z^{2}$$

$$= I_{z} (I_{1}) (I_{1}) (I_{z}) = 2|z^{2}$$

$$= I_{z} (I_{z} (I_{z}) (I_{z})) = 2|z^{2}$$

$$= I_{z} (I_{z} (I_{z}) (I_{z})) = 2|z^{2}$$

 $f(Y) = It_{Y} (It_{3})(It_{2})(It_{1})(2) = 2|1^{2^{3Y}}$   $= (It_{3} \circ It_{3})(It_{2})(It_{1})(2) 2|1^{2^{33}}$   $= It_{3} (It_{3}(It_{2}))(It_{1})(2) 2|1^{2^{33}}$   $= (It_{3}(It_{2}) \circ It_{3}(It_{2}))(It_{1})(2) 2|1^{2^{32}}$ 

$$= I_{3}^{4}(I_{1}^{4}) \left( T_{3}^{4}(I_{2}^{4}) (I_{1}^{4}) \right) (1)$$

$$= (T_{1}^{4} \circ T_{1}^{4}) \left( I_{3}^{4}(I_{1}^{4}) (T_{1}^{4}) \right) (2) \qquad 2 ||^{2^{3}22}$$

$$= T_{1}^{4} \left( T_{2}^{4} \left( T_{3}^{4}(I_{1}^{4}) (T_{1}^{4}) \right) \right) (1)$$

$$= T_{1}^{4} \left( T_{3}^{4} (I_{1}^{4}) (T_{1}^{4}) \right) \left( T_{2}^{4} (T_{2}^{4}) (T_{1}^{4}) \right) (1) \right) \left( T_{2}^{3} (T_{2}^{4}) (T_{1}^{4}) \right) (1) \right) \left( ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2} ||^{2^{3}2$$

 $= 2^{14} 2 1^{22} 1^{22} 1^{32} 1^{$ =  $\sim A(A(Y))$ 

See also ItaisIt.nb

Question: How does this compare with Goodstein's theorem <<u>http://en.wikipedia.org/wiki/Goodstein%27s\_theorem</u>>